
8



 

STAGE  PAGE
26 Instrument panel top 104

27 Gear lever and air vents 107

28 Pedals 111

29 Steering wheel and column 115

30 Steering rack 119

Published in the UK by De Agostini UK Ltd, Royds Withy King, 65 Carter Lane, London EC4V 5EQ. 
Published in the USA by De Agostini Publishing USA, Inc., 299 Park Avenue • New York, New York 10171.
All rights reserved © 2020

Warning: Not suitable for children under the age of 14.  
This product is not a toy and is not designed or intended for use in play.  
Items may vary from those shown.



104

FORD GT Stage 26:  
Instrument panel top

YOUR PARTS

FP01

26-A Instrument panel top

26-B FP01 screw 2.3 x 4mm

26-A



STEP BY STEP

105

STEP 26-1 
Retrieve the instrument panel 
assembled in the previous stage.

STEP 26-2 
Place the holes of the 
instrument panel top 
(26A) onto the posts 
on the inside of the 
instrument panel.

STEP 26-3 
Press the panel top 
into place.

26-A

26-A



106

FORD GT

STEP 26-4 
Secure the two parts 
together with three 

FP01 screws.

STAGE 
COMPLETE 

FP01FP01 FP01



STEP BY STEP

107

27-A Left air vent

27-B Right air vent

27-C Gear lever

27-D Gear lever plate

27-E FP02 screw 1.8 x 4mm

27-F FP01 screw 2.3 x 4mm

Stage 27:  
Gear lever and air vents

YOUR PARTS

FP01 FP02

27-A

27-B

27-C

27-D



108

FORD GT

STEP 27-1
Retrieve the instrument 

panel assembly.

STEP 27-2 
Turn the panel over and install the 
right air vent (27B) with an FP01 
screw, as shown.

STEP 27-3
Fix the left air vent (27A) to the 
other side of the panel with two 
FP01 screws.

STEP 27-4 
Retrieve the floor 
assembly from Stage 23.

FP01

27-B

27-B

27-A

27-A
27-A

27-B

FP01



STEP BY STEP

109

STEP 27-5
Insert the end of the gear lever 
(27C) into the indicated hole in 

the floor. Insert the pins along the 
bottom into the corresponding 

holes in the floor.

STEP 27-6
Mount the gear lever plate (27D)

over the lever, as shown.

STEP 27-7
Turn the assembly over and secure the 
plate with an FP01 screw. Then fix the 
lever to the floor with two FP02 screws.

STEP 27-8
Retrieve the previously 
assembled seats.

STEP 27-9
Fit the seats into the centre of the floor, as shown, 
inserting the posts into the corresponding holes.

FP02

FP01

16-A

27-C

27-D

Pin

16-A



110

FORD GT

STEP 27-10
Turn the floor over and secure the 
seats with four FP02 screws.

STAGE COMPLETE 

FP02



STEP BY STEP

111

28-A Clutch and brake pedals

28-B Accelerator pedal

28-C Pedal rods

28-D Switch plate

28-E Cable 01

28-F Cable 02

28-G FP01 screw 2.3 x 4mm

28-H FP02 screw 1.8 x 4mm

28-I FP05 screw 1.2 x 3mm

Stage 28: 
Pedals

YOUR PARTS

28-A

28-B 

28-C
28-D

28-E

28-F

FP01

FP05

FP02



112

FORD GT

Step 28-1 
Insert cable 01 (28E) into the right recess  
in the floor.

Step 28-3 
Place the switch plate (28D) over both 
switches, as shown. Secure the plate with  
an FP02 screw.

Step 28-2 
Place cable 02 (28F) in the 

recess next to it.

FP02

28-F

28-F

28-D

28-D

28-E

28-E

28-E

16-A



STEP BY STEP

113

Step 28-4 
Pass cables 01 (28E) and 02 (28F) 
through the rectangular opening in the 
floor to the left of the switch housing.

28-B

28-C

28-E28-F
28-E28-F

Step 28-6 
Insert the clutch and brake pedals (28A) into the corresponding holes in the accelerator pedal. Turn 
the assembly over and secure the parts with an FP05 screw.

FP05

28-B

28-B

28-A

28-A

Step 28-5 
Fit the pedal rods (28C) into place on the 
accelerator pedal (28B). Secure from the 

undersidewith an FP05 screw.

FP05
28-B

28-C



114

FORD GT

Step 28-7 
Take the pedal assembly and insert it into the 
two indicated holes in the floor. Secure it from 
underneath with an FP01 screw.

STAGE 
COMPLETE 

Pin

16-A
FP01

16-A

16-A



STEP BY STEP

115

Stage 29:  
Steering wheel and column

29-A Steering wheel

29-B Steering wheel cover

29-C Steering column

29-D Steering column guide

29-E Steering column pinion

29-F FD04 screw 1.8 x 3.5mm

29-G FP01 screw 2.3 x 4mm

YOUR PARTS

FP01

FD04

29-A

29-B

29-C

29-D

29-E



116

FORD GT

STEP 29-1 
Insert the steering column (29-C) into the pinion (29-E). The two parts can only fit 
together in one orientation.

STEP 29-3 
Secure the wheel (29-A) to the 
column (29-C) with an FD04 screw.

STEP 29-2 
Press the column into the back of the steering 
wheel (29-A).

29-C

29-A

29-A

29-C

29-C

29-A

29-E 29-C

FD04



STEP BY STEP

117

STEP 29-6 
Then mount the steering column guide 
(29D) over the column and onto the 
instrument panel.

STEP 29-5 
Retrieve the instrument panel 
from Stage 27. Turn the assembly 
over and engage the ringed part 
of the steering column with the 
instrument panel, as shown.

29-C

STEP 29-4
Place the wheel cover (29-B) 

into the centre of the steering 
wheel, as shown.

29-A

29-A

29-B

29-B



118

FORD GT

STEP 29-7 
Secure the guide with 

two FP01 screws.

STAGE 
COMPLETE

FP01



STEP BY STEP

119

Stage 30:  
Steering rack

YOUR PARTS

FP01

30-A Battery box

30-B Steering rack

30-C Steering support

30-D FP01 screw 2.3 x 4mm

30-A

30-C

30-B



120

FORD GT

STEP 30-1 
Recover the interior assembly.

STEP 30-2 
Install the steering support in front 

of the pedals. Secure it with two 
FP01 screws.

STEP 30-3 
Place the toothed section 
of the steering rack (30-B) 
in the support, as shown.

FP01

FP01

FP01

30-C

30-C
30-B

30-A

30-B

STEP 30-4 
Install the battery box 

(30-A) on the other side 
of the floor, over the 
steering rack. Fix the 

top of the box in place 
with an FP01 screw. 

Then secure from the 
underside with two 

more FP01 screws.



STEP BY STEP

121

STEP 30-5 
Retrieve the instrument panel.

STEP 30-6 
Place the instument panel into the front of the 
floor, the posts entering the correspsonding holes. 
The steering column pinion should rest in the 
steering rack.

STEP 30-7 
Once the pinion is engaged 
with the rack, check that all 
the other mounting points 
are correctly positioned. 
Then, turn the assembly over 
and, secure the instrument 
panel with four FP01 screws.

29-E

29-E

30-B

30-B

FP01

FP01



122

FORD GT

STAGE 
COMPLETE 


